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Question 3 
 
6 points (1 + 2 + 1 + 1 + 1) 
 
(a)  1 point: 

• One point is earned for concluding that City Wheels maintains its current fare, since $180 > $120. 
 

(b)  2 points: 
• One point is earned for stating that Easy Ride does NOT have a dominant strategy. 
• One point is earned for explaining that Easy Ride’s best move depends on City Wheels’ move. 
 

(c)  1 point: 
• One point is earned for stating that the profit to Easy Ride is $150 and the profit to City Wheels is 

$180. 
 
(d)  1 point: 

• One point is earned for stating that the cooperative solution is for both to maintain their current 
fares. 

 
(e)  1 point: 

• One point is earned for showing the correct entries in the new payoff matrix as follows: 
 
       City Wheels 

 Maintain Fare Lower Fare 

 
 

Maintain Fare
 
   Easy Ride 
 

Lower Fare

$150, $180 $130, $160 

$160, $130 $180, $150 
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Question 3 
 
Sample: 3A 
Score: 6 
 
The student earned all 6 points for this question. 
 
Sample: 3B 
Score: 4 
 
The student earned 1 point in part (a). The student lost both points in part (b) for stating that Easy Ride  
has a dominant strategy and for an incorrect explanation. The student earned all 3 points in parts (c), (d), 
and (e). 
 
Sample: 3C 
Score: 2 
 
The student lost 1 point in part (a) because the response does not clearly compare the $180 of profit City 
Wheels would earn for maintaining the fare against the $120 that would be earned by lowering the fare. 
The student earned 1 point in part (b) for answering “No,” but there is no explanation given, so the second 
point was lost. The student lost 1 point in part (c) because correct profits for each firm are not given. The 
point in part (d) was earned. The student lost 1 point in part (e) because the new payoff matrix is incorrect. 
The payoffs in the lower-right cell of the matrix are incorrect. 
 


